SHTEFEFARAKEHRRA=ZTHAKRSE 3
F0EEE/NMNeERIEREHAER T ES

£S5 =3 TS5 EH
HAE S ¥xE108198 (L) . 208 (H)



SHTTEE FRRMREFRY 1 Z7HA KRS 38 F2002E/ NFEKIRRESITERFES
SMTEI0R198 (£) - 208 (H) V—Yar77H¥LE#

NEE BT AE—H

=B N v57% Ba
Eilyiey 1 IEER s 77 115.200
Eilyiey 2 PLFRT 4y THB 108.900
EilZS ey 3 NP RIS E 91.650

NEE BFEPFE AE—E

&H 413 EFR 7774 FE (30

BARE 1 TR ERER LAVR—SLAFRT 4y 7 AKEB 4 38.000
BAKE 2 L)1 #32 PLFTRT 4y OHR 4 37.000
BARE 3 25 54 RE ) r 5% 7 7(8F) 4 36.600
BAKE 4 INE A PLFRT 4y R 3 34.750
BARE 5 K% B DKEEES 4 33.400
BARE 6 K BN SLF AT A v B 2 32.900
&R [[fivd EBFH 77% A B
g7 1 AR EKER LAYR=—VLFRT A7 AKEB 4 9.700
g7y 2 N2k PLFRT 4y B 4 9.500
g7 3 =G S RE ) r 5% 7 7(87F) 4 9.250

M5 1 Ak P LFRT 4y OFR 4 9.300
Mm% 2 M EXKED LAYR=—LLF AT A4y 7 AKE 4 9.200
A5 2 =g HE REJ r 5827 7 7(BF) 4 9.200
| JEfz EFH v57% e B
ol g 1 FEM EREB LAYR=—VLF AT A4y 7 AKE 4 9.550
ek 2 L)1 #32 PLFRT Ay B 4 9.350
ek 2 =g Sk K@) r 5% 7 7(8F) 4 9.350
=] IE iz EF4 v57% PE ET=
Bk 1 FEM EREB LAYVR=—LLFRT 4 v I RKE 4 9.550
B 2 =iE HE R r &8 7 7(BF) 4 9.300
Bk 3 Ik PLFRT Ay IR 4 9.150
IE iz
FiTHE 1 Ak P LFRT 4y OHR 4 9.000
FATHE 2 EM EKED LAYR—L LF AT A4y 7 ZAKE 4 8.900
FiTHE 3 =iE HE REJ r 5820 7 7(BF) 4 8.500
=S| [1:}v2 EF4 574 e B
SR 1 M EXKED LAYR—LLF AT A4y 7 AKE 4 9.550
i 2 L)1 #32 PLFRT Ay B 4 9.050
i 3 INE A PLFRT Ay IR 3 9.000




SHTFEE R REHE
HATEL0A198 ()

BT 2 ZTHARSR R F0E2ENFERBERAZITIRRTFER

- 208 (H)

INFE B BRE ANE—K

V=Y a7 7% il

#EH JEfL BEFH 77% FE EI=
BARE 1 Hig & kiR s 27 5 39.100
BAKE 2 7K ARER R ) r i8R0 77(BF) 6 38.500
BARE 3 A+ EH kiR s 27 5 38.250
BAKE 4 XE HA LAYKR=Y LF AT Ay 7 AKEB 5 38.200
BARE 5 #BIE MRy 27 5 37.550
BAKE 6 E RO Mgy 77 5 37.200

=] JEfL EFH 9774 2E E I

2y7Urs 1 Hig & ks 77 5 9.800
g7 2 E7K ARER RE ) r ks 7 7(BF) 6 9.750
2y 7Urs 3 H+E 2 MR 77 5 9.650

=] JEfL EFH 9774 FE E I

3 1 Hig & ks 77 5 9.750

A% 2 7K ARER R ) r KR 77(BF) 6 9.550

3 3 # BIE MR 77 5 9.500

=] JEfL EFH 9774 FE E I

ek 1 KE A LAYR=—L LFRT 4y 7 AKE 5 9.900
ek 2 B HRER R ) r 50 7 7(BF) 6 9.800
ek 3 Hig &% ks 77 5 9.750

=] JEfL EFH 977% FE E I

BEES 1 KE A LAYR=—L LFRT 4y 7 AKE 5 9.750

B 2 mig & MxEERs 77 5 9.700

BEE 3 # BIE MR 77 5 9.500

B 3 B HRER R ) r 50 7 7(BF) 6 9.500

=] JEfL EFH 977% FE E I

it 1 KE HA LAYR—PLFRT 4y 7 AKE 5 9.800

FATHE 2 Higs & Mk s 27 5 9.650

FATHE 3 # BIE MRERT 77 5 9.500
=] JNEfL EFH 57% R (EI=

NS 1 Hig & kg s 77 5 9.850

7Nz 2 A+E EH Mk s 27 5 9.800

g 3 B MR REJ r 580 7 7(BF) 6 9.700




SHTTEE FRRMREFRY 1 Z7HA KRS 38 F2002E/ NFEKIRRESITERFES
SMTEI0R198 (£) - 208 (H) V—Yar77H¥LE#

WNFEE T ANE—F

=B N v57% Ba
Eilyiey 1 PLFRT 4y OFR 105.550
Eilyiey 2 LAVER—SLFRT 4y 7 RAKE 102.100
EilZS ey 3 U —LEgES—2o L 99.900

NEE AFEPFE AE—E

&R {3 EFH 257% S B/=
BAKRE 1 R BAE REY2=T4@®I 77 4 38.400
EAKE 2 WEH A& REAY2=THBI 77 4 37.000
BAKRE 3 BN R4 PLFRT A Y VR 4 35.450
BAKE 4 KE RIE LAYHR—L LFZAT 4y 7 AKB 4 32.800
BAKRE 5 H# &1 FU—LfFgY—2o L 4 32.300
BAKE 6 BB FU =LY —o L 4 32.150

EFH

B 1 WE A& RS 2 =Tk 77 4 9.650

B 2 bl 3R = REY 22T 77 4 9.550

Bk 3 AT R PLTRT Ay R 4 8.500

&R IE sz EFH 257% S B/=

BB LT 1 B B E REY 2 =787 7 4 9.850
BB WETHE 2 BEAT R CLTRAT A UHR 4 9.000
BB LT 3 WE A& REY 2 =T 77 4 8.900

&R IE sz EFH 757% S B/
THa 1 bl i =y REY 2 =787 7 4 9.450
FHE 2 WE AE RAY2=74&%Es 77 4 9.100
THa 3 PR R PLTRT Ay IR 4 8.950

K 1 R BILE REY 227K 77 4 9.550
b 2 W A& RS 1=74&B757 4 9.350
wh 3 AT 24 PLFRAT Ay IS 4 9.000




SHTFEE R REHE
HATEL0A198 ()

BT 2 ZTHARSR R F0E2ENFERBERAZITIRRTFER

- 208 (H)

INFE RFBRE ANE—E

V=Y a7 7% il

=] [:}va 77% (E T
#EH JEfL BEBFH 77% FE CI=
BARE 1 B B PLFRT AV VR 5 37.550
BAKE 2 IR BH LAYKR=Y LF AT Ay 7 AKEB 6 36.050
BARE 3 REIZT MEEEEs 27 6 36.000
BAKE 4 K &E PIKERR 5 35.050
BAKRE 5 &) B FU— LR —2o L 6 34.650
BARE 6 B B DIKETER 5 33.150
=] JEfL EFH 774 FE E I
BEE 1 AT B DLFRT Ay VR 5 9.600
B 2 wEIZZ kg s 77 6 9.250
BEES 3 BN FU— LBy —2 L 6 9.000
=] JEfL EFH 9774 FE E I
EBNE WP {THE 1 AT B DLFRT Ay VR 5 9.500
BB LV EATHE 2 IR BS LAYR=Y LF AT 4y 7 AKE 6 9.150
BB W EATHE 3 R H4 LAYR=—L LFRT 4y 7 AKE 5 8.900
=] JEfL EFH 77% FE E I
THE 1 R BH LAYR— LFRT 4y 7 AKE 6 9.200
e 2 AT 78 VLFRT 4y VR 5 9.150
THE 3 REIZZ MRERT 77 6 9.050
=] JEfL EFH 977% FE E I
F7) 1 HEAT B DLFRT A Y VR 5 9.300
Kb A 2 )1l 255 FU— LBy —o L 6 9.200
F7) 3 K & DIKERER 5 9.150




SHTTEE FRRMREFRY 1 Z7HA KRS 38 F2002E/ NFEKIRRESITERFES
SMTEI0R198 (£) - 208 (H) V—Yar77H¥LE#

hipt BF AE—%

=B N v57% Ba
Eilyiey 1 LAYIR=LFRT 4y 7 AKEB 203.950
Eilyiey 2 EE®Rs > 7 191.050
EilZS ey 3 DKERER 179.600

~F
BAKRE 1 B R r Ko 57 1 71.900
BAKRE 2 tREs R ) rthkigos 77 ® 69.550
BARE 3 MK B LAYHR—PLFRT 4 v I AKE 2 68.700
BAKRE 4 =iE Bk LAVR—Y LFRT 4 v 7 RAKEB 2 67.600
BARE 5 R B P LFRT Ay IR 1 67.100
BARE 6 A+ EAKRES kg s 77 1 66.200
BARE 6 HER BRE5 LAYHR—PLFRAT Ay 7 AKEB ® 66.200
=8 L BFE 57% FE =g
¥ 1 ok EIR LAYVR—Y LFRT 4 v 7 RAKEB 2 12.650
¥} 2 N B R r 8B 77 1 12.450
bhH 3 A EE RE ) r Ko 77 ® 12.300
=8 JEfL BEFH 77% RE B
HAE 1 tHEE @A) rix%gs 77 ® 11.700
HAE 2 &R B H LAVR—Y LFRT 4 v 7 RAKEB 2 11.100
HAE 3 A+ HARED mkEgs 27 1 11.000
=8 JEfL BEFE 77% RE B
Dy 1 B & R r5#%o 77 1 12.350
D) 2 sk EIX LAYR=VLF AT 4y 7 AKE 2 11.650
1) By 3 tHEE R ) r &% 757 ® 11.600
=8 JEfL BEFH 77% RE B
BkE 1 wHEE ® R r8#%o 77 1 12.500
Bk 2 s B LAYR=—LLFRT 4y 7 RAKE 2 12.300
955 3 Mk B LAYR—PLFRT 4y 7 AKE 2 12.150
=] JEfz EFH 257% HE g
FiTHE 1 wHEE ® R r8#%0 77 1 12.600
FiTHE 2 +tHEE R rix#Ro 77 ® 11.550
T 3 EH A LAYVR—YLFRT 4 v 7 RAKEB 1 11.500
=] JEfz BEFH 257% HE g
7N 1 Mk BIX LAYR—VLFRT 4y 7 AKE 2 11.700
E7ES 2 =5 1hH LAVHR—LLFRT 4 v 7 RAKEB 2 11.400
7N 3 B & R rK#%o 77 1 11.300




SHTTEE FRRMREFRY 1 Z7HA KRS 38 F2002E/ NFEKIRRESITERFES
SMTEI0R198 (£) - 208 (H) V—Yar77H¥LE#

hept X7 AE—%
EH

[Eifz ey 1 LAYVR=—SLF AT 4 v 7 RAKE 135.150

BARE 1 HE H PIKEBRR 2 49.800
BAKE 2 Y U H LAYIR=YLFRAT 4y 7 AKEB 2 47.650
BAKRE 3 b #A LAYIR=Y LF AT 4y 7 AKE 1 44.050
BAKE 4 =g &3 LAYIR=Y LF AT Ay 7 AKE 1 43.450
BAKRE 4 FEF HHE DLFRT Ay VR 2 43.450
BAKE 6 EHREFE LAYVR=YLFRT 4y 7 AKE 1 37.950
=] JEfL EFH 774 FE E I
BEE 1 FEF HHE DLFRT Ay VR 2 12.500
B 2 HE H DIKETER 2 12.250
BES 3 Y W LAYR=—L LF AT Ay 7 AKE 2 12.100
=] JEfL EFH 9774 FE E I
BIEWFTHE 1 HE H DIKETER 2 11.450
BB WEATIE 2 Y A LAYVR=YLFRT 4y 7 AKE 2 11.150
BB W EATHE 3 &g =21 LAYR=—L LFRT 4y 7 AKE 1 10.200
=] JEfL EFH 737% FE E I
THE 1 HE H DIKERER 2 12.950
TH5 2 Y U LAYR=YLF AT Ay 7 AKEB 2 11.750
THE 3 FE i PLFRT Ay VR 2 11.100
=] JEfL EFH 977% FE E I
F7) 1 HE H DIKERER 2 13.150
¥ 2 Y Y h LAYR=Y LF AT Ay 7 AR 2 12.650
OF) 3 b #E A LAYVKR=YLFRT 4y 7 RAKEB 1 12.600




SHTTEE FRRMREFRY 1 Z7HA KRS 38 F2002E/ NFEKIRRESITERFES
SMTEI0R198 (£) - 208 (H) V—Yar77H¥LE#

aRE BF AE—§

=B N v57% Ba
Eilyiey 1 LAYIR=LFRT 4y 7 AKEB 207.050
Eilyiey 2 EE®Rs > 7 206.700
EilZS ey 3 &M ) r Ao 77 187.800

~F
BABE 1 BER KE LAVKR—Y LFRT 4 v 7 RAKEB 2 73.700
BAKRE 2 RE FH ks 77 2 70.000
BARE 3 i) s MmkiEgs 77 2 69.150
BAKRE 4 BB BX LAVR—Y LFRT 4 v 7 RAKEB 1 67.550
BARE 4 tE EX ks 27 1 67.550
(EPN = 6 g LAYHR—PLFRAT Ay 7 AKEB @ 65.750
=8 L BFE 57% FE e
¥ 1 EBE BEX LAVR—Y LFRT 4 v 7 RAKEB 1 12.500
oF) 2 BER K& LAVR—Y LFRT 4 v 7 RAKEB 2 12.250
%) 3 i) s MmkEgs 27 2 12.200
=8 L BFE 57% FE (E3
HAE 1 BER KE LAYVR—Y LFRT 4 v 7 RAKEB 2 12.550
HAE 2 PERUP ;] PLFRAT Ay UHR ® 11.750
HAE 3 bE BEX mkEgs 77 1 11.300
=8 JEfL BEFH 77% RE (£
ek 1 BER KE LAYVR—Y LFRT 4 v 7 RAKEB 2 12.650
ek 2 ) kg s 27 2 11.700
ek 3 RE FH mkEgs 27 2 11.650
=8 JEfL BEFE 77% RE (E3
BEE 1 T mkEgs 77 2 13.850
Bk 2 RE FH mkisgs 27 2 13.450
955 3 BER KE LAYVR—YLFRT 4 v 7 RAKEB 2 12.850
=] JEfz BEFH 257% HE g
T 1 BER KE LAYVR—YLFRT 4 v 7 RAKEB 2 12.300
FiTHE 2 RE FH mkisgs 27 2 11.900
T 3 Sl et} IXERE s 77 2 11.350
=] JEfz BEFH 257% HE g
#hiE 1 bE BEXR IXERE s 77 1 11.650
e 2 EBE BEX LAYR=—LLFRT A4y 7 AKE 1 11.300
7N 3 RE FH MXEREs 77 2 11.150




SHTTEE FRRMREFRY 1 Z7HA KRS 38 F2002E/ NFEKIRRESITERFES
SMTEI0R198 (£) - 208 (H) V—Yar77H¥LE#

BRE XF AE—E

=] IE iz 957% "
EilzSiN=, 1 REAY 176777 153.050
EilzSiey 2 PLFRT 4y I8 152.700
EilZS ey 3 LAYHR—SLFRT 4 v I RAKEB 149.500

2
BARE 1 T PRE DLFRT A Y VR 1 53.850
BAKE 1 IR DDA RAY2=74&%E0 77 2 53.850
BARE 3 MHE BthE LAYR=Y L AT 4y 7 AKB ® 51.650
BARE 4 NI EFR PLFRT A Y VB 2 50.150
BARE 5 Nk zmx REAS 1274457 ©) 49.300
BARE 6 T G PLFRT A Y VR 2 48.700

#Q [:4va EFH 9774 FE EI=
BEES 1 TR PRE PLFRT Ay IR 1 13.600
BKE 2 AN FHE VLFRT 4y VR 2 13.400
B 3 EH EhE LAYR—SLFRT 4y 7 ZKE ® 13.250
#Q [:}va EFH 9774 FE EI=

BB LTITHE 1 TR PRE DLFRT A Y VR 1 13.500

BHE W THE 2 INFR DD H REAY2=T4@H&Es 77 2 13.000

BRE VW TITHE 2 EH EhE LAYIR=Y LF AT Ay 7 AR ® 13.000

#R NE {3z EFH 77% FE EI=
FigE 1 IR DDA REAY2=T#H&Es 77 2 14.450
FigE 2 NNk BX REAY1=T#HEs 77 @ 13.300
FigE 3 NI EE R PLFRT Ay VR 2 12.800
#R NE {3z EFH 977% FE eI
%) 1 TR PRE PLFRT Ay VR 14.250

1
ki) 2 INFR DD A REY1Z71K%I 77 2
OFs) 3 TRE Z3 REY 2 =7§gs 57 @) 13.500




